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I. Cloze Test: Choose the best word to fill the blank. (20%; 2% each)

Arachne the Spinner is a Greek __ 1 . Itis about a lady named Arachne. She was
a very skillful weaver. She made such beautiful tapestries that many people came to
see them and some of the people paid lots of money to buy them. Arachne used the
shuttle very gracefully to weave cloth. Arachne thought that her ability to weave was
better than any god’s or goddess’ ability to do the same.

The goddess Athene appeared and challenged Arachne to a weaving contest. As
the competition began, the goddess Athene wove all the gods showing their good sides.
For example, she _ 2 the gods being heroic, generous, and kind. She also wove all
the creatures. She made them so well that they looked _ 3

Arachne also wove all the gods. Instead of showing the gods in a respectful way,
Arachne made fun of them. For instance, she displayed the gods idling, squabbling,
and _ 4 . Arachne wove creatures, plants, and the sea into her tapestry. They were
so _ 5 thatthey looked prettier than nature.

When Athene finished weaving, she looked at Arachnes tapestry closely. Athene
_ 6 Arachne the winner because Arachne’s weaving was much better than hers.
Arachne proudly agreed with Athene. Athene then responded to Arachne’s arrogance
by saying that Arachne was too prideful. Also, the way Arachne mocked the gods in
her tapestry was _ 7

Hence, Athene punished Arachne. Athene did this by pushing Arachne’s shuttle
into Arachne’s mouth. Then, Athene transformed Arachne into a spider. Arachne’s
body became small and was turned into a black _ 8 . Her arms were attached to her
sides and shrunk down until there were only her long fingers _ 9 . Thread came out
of Arachne’s mouth. From then on, Arachne only wove _ 10 . When people saw
Arachne’s weaving, they were afraid of it and would destroy it.

Athene made Arachne an example to show people that if they were also prideful

and disrespectful, they would be punished. (%6 & 3 #40)
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1. (A) myth (B) mutton (C) muzzle (D) mythologist

2. (A) exited (B) exiled (C) exhibited (D) inhibited

3. (A) lift (B) pigment (C) lifelike (D) picturesquely
4. (A) bragging (B) blooming (C) breeding (D) breezing

5. (A) vein (B) vivid (C) visor (D) ravine

6. (A) diluted (B) declared (C) digressed (D) demolished
7. (A) irk (B) irradiated (C) irresolute (D) irreverent

8. (A) blob (B) bawl (C) bellow (D) besiege

9. (A) relenting (B) retailing (C) remaining (D) resembling
10. (A) twigs (B) grass (C) nettle (D) cobwebs

II. Reading Comprehension: Select the best answer for each question. (30%; 2% each)
Passage One

China on Sunday reported 57 new confirmed infections, its highest single-day
tally in two months, renewing fears that the country’s grip on the pandemic is not yet
secure.

Of the 38 locally transmitted cases, 36 were in the capital, Beijing, where the
authorities are conducting mass testing at a major seafood and produce market that
appears to be the source of a new outbreak. It is the most cases the city has reported in
one day since the coronavirus first emerged. Beijing had gone eight weeks without a
single locally transmitted case until a total of seven were detected on Thursday and
Friday.

The other 19 cases China reported on Sunday involved travelers arriving from
overseas, mostly in the southern province of Guangdong.

Nearly all of the dozens of people who tested positive in Beijing in recent days
had worked or shopped at the Xinfadi market, a wholesale market on the city’s south
side that sells seafood, fruit and vegetables, according to the Beijing health
commission. The market has been shut down and several nearby residential complexes
are on lockdown.

More than 10,000 people work at the market, which supplies 90 percent of
Beijing’s fruits and vegetables, according to the state news media. The virus was
reportedly detected on cutting boards for imported salmon there.

The developments also prompted the authorities to partly or completely close five
other Beijing markets and to tighten controls on movement in and out of the city. State

media outlets described the effort as a “wartime mechanism.”
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11. What has the government done to deal with the virus?
(A) Shut down markets.
(B) Hand out vaccines.
(C) Close down schools.
(D) Increase interest rates.
12. According to the passage, how many locally transmitted cases were reported in
Beijing?
(A) 19
(B) 57
(C) 38
(D) 36
13. What situation does the phrase “wartime mechanism” most closely describe?
(A) A dire situation
(B) A violent situation
(C) A horrifying situation
(D) A weird situation
14. According to the passage, which of the following is false?
(A) The virus was detected on cutting boards in the market.
(B) The government has not had this many single-day cases in four months.
(C) Most of the cases are related to the Xinfadi market.
(D) The government has tightened movement in and out of the city.
15. According to the passage, what is implied?
(A) There will soon be a cure for the virus.
(B) The government is very worried about the virus spreading.
(C) The citizens of Beijing are very carefree.

(D) The virus cannot be transmitted through air.

Passage Two

If you’ve faced me in spades at any point in the last decade, you almost definitely
walked away a loser, and probably wanted to fight. I’ve played approximately 70 times
in that time period, and I can only recall one loss — at a spades tournament I held in
my apartment in 2015. There were 16 teams, and mine (“Team Shank™) got upset in
the semis. They thought I was done. They threw a parade. They documented it on
Instagram. But, like Jordan in ’96 and John Wick in tapered Italian formal wear, 1

came back better, smarter and stronger.
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The rules of spades are straightforward enough. It’s a team card game where each
person gets 13 cards, and the highest cards win. A spade, however, trumps all, but you
can only play one if you’ve exhausted the lead suit. There are 13 available rounds,
called books or tricks, to be won, and you keep score by predicting, before the hand is
played, how many books your team will win that hand. Adding intrigue is the fact that
you’re seated across from your partner instead of next to them, so you have no idea
what cards they have. The only thing they’re allowed to communicate to you is how
many books they think they’ll get from it. Anything more detailed — succinctly
known as “talking across the board”— results in penalty. (And, occasionally,
“accidental” pushes down empty elevator shafts.)

Those rules are static, but part of the fun of spades is that they vary by region.
Sometimes by household. The big and little jokers are the highest cards in the game,
and most variations of spades make the two of spades the third most powerful card.
But there are places where the two of diamonds also becomes a trump card, which is
like adding sausage to a Big Mac. And there are many other house-dependent decrees,
rules with shorthands like “ten for two” and “first seven” and “going blind” that all
veteran spades players are familiar with.

Anyway, games are played to 350 or 500, and winning requires a mastery of the
ecosystem of strategizing, card-counting, and bourbon retention this dynamic
encourages. This is where my magic happens. I win so frequently because I bluff my

opponents into losing.

16. According to the passage, which card is not one of the “highest cards™?
(A) Big Joker
(B) Two of Diamonds
(C) Small Joker
(D) King of Hearts
17. Which of the following is not a rule of Spades?
(A) Each person gets 13 cards.
(B) There are 15 rounds.
(C) Games are played to 350 or 500.
(D) The highest cards win.
18. Which word is closest in meaning to “bluff” in the last paragraph?
(A) Pretend
(B) Bite
(C) Debate
(D) Pause
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19. According to the passage, which of the following is not implied about the author?
(A) He has played spades for more than a decade.
(B) He is very knowledgeable in blackjack.
(C) He has suffered very few losses.
(D) He frequently bluffs when he plays spades.
20. According to the passage, which of the following is false?
(A) Spades rules can vary by region and household.
(B) The author has won many games.
(C) You can talk freely with your partner during the game.
(D) The author is good at bluffing.

Passage Three

Kondratieff was a young Russian economist who died in prison in 1938. He
developed an economic theory that purportedly explains both the dynamism and the
destructiveness of the capitalist economic systems. The source of this explanatory
power, he contended, was the existence of “long waves” or “long cycles” that bred
both leaps of prosperity and spasms of instability.

Unlike normal business cycles, which lasted about a decade, Kondratieff’s long
waves typically spanned 50 to 60 years. Initially, investment capital flows into new
technologies. That’s the up cycle; the down cycle occurs when surplus production
reduces prices and raises unemployment. Markets are saturated.

If you Google “Kondratieff cycles,” you get a concise history of the theory. It’s argued
that we’ve passed through five “long waves” since the late 1700s. Here is a brief list, with my
rough estimates of the year the cycle’s upswing reached its peak: (1) the invention of the
steam engine and advances in textile manufacturing (1817); (2) railroads and steelmaking
(1870); (3) electricity (1920); (4) automobiles and petrochemicals (1975); (5) information
technology (now). The sixth wave may be health care, according to Leo Nefiodow, a scholar
of Kondratieff cycles.

The truth is, until recently, I regarded Kondratieft’s long waves with scorn and
skepticism. The long waves seemed, at best, too long and too diverse to qualify as a
genuine economic cycle. At worst, they were junk economics, a clever idea that, the
more it was examined, the more it would be found wanting.

There 1s an irony: Marxist political thought held that, as society became richer, more
power would shift to the state. The Marxist argument was that the capitalist system would
collapse, says political scientist William Thompson of Indiana University. Kondratieff’s

research suggested that, rather than collapsing, the repeated booms would sustain capitalism.
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Despite that, Kondratieff was not jailed for his economic views, says Thompson. He was a
political opponent and was jailed for that.

Perhaps that is still true. I haven’t joined the Kondratieff camp just yet. But I am a
lot more open-minded. What I do know is that the existing framework of economics
has not served us particularly well. We need to be both vigilant and critical at the same

time.

21. According to the passage, which of the following events caused a “long wave”?
(A) The discovery of penicillin
(B) The discovery of electricity
(C) The invention of airplanes
(D) The founding of the United States of America
22. Which of the following describes the author’s past view on Kondratieff’s research?
(A) Confident
(B) Amazed
(C) Skeptical
(D) Joyful
23. According to the passage, which of the following is true?
(A) Kondratieff’s long cycles usually last for 50-60 years.
(B) Kondratieff grew up in Poland.
(C) Kondratieff died in a hospital.
(D) Kondratieff was jailed for his economic views.

24. According to the passage, what is false about “long waves”?

(A) They cause prosperity and instability.

(B) There have been 5 long waves since 1700.

(C) The up cycle is when investment capital flows into new technologies.

(D) The down cycle is when stock prices rise.

25. Which of the following words is closest in meaning to “vigilant” in the final

paragraph?

(A) Cautious

(B) Clumsy

(C) Unsure

(D) Dumbfounded
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